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Hm: BIRPAS FOBINUIA BELE

TPl PIRRINE FOIMEX (ersl:&2)

M- B2 SR(3H) - MRAY - BaS HRE2
= 206,585 202,032 4,553
dEs FUMIMHIA E 163,583 157,690 5,893
2Es FUMET R 163,583 157,690 5,893
FHESFUNRNEHZSH 11,431 15,000 A3,569
201 LEHRHH| 11,431 15,000 A3,569
01 AtR2eldl 11,431 15,000 A 3,569
OFCRXHH 23 Z& 11,431,000 11,431 15,000 23,569

B ALSFUTHAE 87,360 76,730 10,630
301 ptsazg 87,360 76,730 10,630
05 &-cl-EtEsEs 86,460 75,730 10,730
O =¥ Z & 56,600,000 56,600 50,400 6,200
Os¥ &= Z & 10,000,000& 10,000 8,400 1,600
Os&3le &&= 23 11,360,000 11,360 10,080 1,280
Ogtd &=t Z & 8,500,000 8,500 6,850 1,650

10 AIAHIEA = 900 1,000 A 100
OUF - A EA Z& 900,000 900 1,000 A 100
Bt SHAI2E 2t 15,000 14,025 975
201 ZEH2IH] 13,000 12,025 975
02 =224l 13,000 12,025 975
OZ232= % MAl d& 12,000,000 12,000 11,512 488

O =l Z2& 1,000,000 1,000 513 487
gt SHIX A 42,792 44,935 A2,143
201 LEH23H] 12,208 13,775 A 1,567
01 AtR2teld] 6,885 7,860 A975
Oget=Z| 2 & 4,885,000 4,885 5,860 A975

02 2=294H| 5,323 5,915 ABJ2
ORER= Z & 5,323,000& 5,323 5,915 ADBJ2

202 OdHl 21,384 23,760 N2,376
01 =LHNHI 21,384 23,760 N2,376
OJl=2g =304l 24 21,384,000 21,384 23,760 N2,376

405 KHeHE SHI 9,200 7,400 1,800
01 T =ZHSH 9,200 7,400 1,800
OPC(HNESEHRE) 1,300,000 = 1CH 1,300 0 1,300
OC X EJtoict 500,000& 1 CH 500 0 500
=24 s 2SI 40,869 42,209 A 1,340
=2 S H2E 33,409 34,009 A600
2L SA2A| 33,409 34,009 A 600
203 YR=&dl 8,800 9,400 A600
01 JI22dHRFaA 5,400 6,000 A600
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